NEW TO RANGE

2023-12 (BY APPLICATION)
~ NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBUHKW KATANOIA~YENI GIKAN URUNLER ~ ¢ slis jdi~

ACURA EL 2nd Generation 08/01-09/05 %‘
- BALL JOINT BOTH SIDES
#j\ 3603046 rotil, 6n sag-sol, alt FRONT LOWER
51210S5AJ20 waposas onopa
51210S5AJ30 Rétula de suspension/carga
il 5121056M000 Rotule de suspension
ACURA MDX 08/07-08/13
3609192 TRACK CONTROL ARM REAR
denge kolu, arka, alt
04523STX000 pblyar
52345SZAA50 Barra oscilante, suspension de ruedas
Triangle de suspension
ACURA RSX (2nd Gen.) 08/01-08/05
BALL JOINT BOTH SIDES
@ 3603037 rotil, 6n sag-sol, alt FRONT LOWER
51210SCV000 waposas onopa
51210SJF0O00 Casquillo cojinete, brazo oscilante
5121556M010 Rotule de suspension
P {9 BALL JOINT BOTH SIDES
1‘5} 3603045 rotil, 6n sag-sol, alt FRONT LOWER
51210S5TZ00 wapoBas onopa DIA. 40,1 mm; M12x1,25
T y ( ) Rétula de suspension/carga
o Rotule de suspension
ACURA ZDX 08/10-08/13 )
3609192 TRACK CONTROL ARM REAR
denge kolu, arka, alt
H 04523STX000 pbiyar
52345SZAA50 Barra oscilante, suspension de ruedas
Triangle de suspension
BUICK ENVISION 02/16-
AXIAL JOINT FRONT; BOTH SIDES
5607072 rotmili, &n sag-sol M14x1,5;M16x1,5;L=300 mm
e —— pynesas Tara

Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure

2023-12 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

10of 48



BUICK LA CROSSE (USA) 08/05 - 08/09
TRACK CONTROL ARM FRONT
5609165 denge kolu, 6n, alt Rod Ride,Handling ,Soft Ride Suspensin
@ * 10319451 pbluar
15236247 Barra oscilante, suspension de ruedas

Triangle de suspension

CADILLAC cTS 08/08-08/13
- BALL JOINT BOTH SIDES
= o 5603052 rotil, 6n sag-sol, Ust FRONT UPPER
!1 19168536 waposas onopa
% 19177211 Rétula de suspension/carga
- Rotule de suspension
CADILLAC ESCALADE GMT400 08/98 - 08/00
TRACK CONTROL ARM BUSH BOTH SIDES,REAR
5600108 burg, arka sag-sol 39x14,2x52 mm
‘ ' 15039398 calineHT6n0K
22863710 Casquillo cojinete, brazo oscilante
Silent bloc de suspension
CADILLAC ESCALADE GMTS800 08/01-08/06
TRACK CONTROL ARM BUSH BOTH SIDES,REAR
5600108 burg, arka sag-sol 39x14,2x52 mm
' 15039398 caiineHT610K
22863710 Casquillo cojinete, brazo oscilante
Silent bloc de suspension
CADILLAC ESCALADE 4th Generation GMT 09/14-
WISHBONE FRONT,RH
o 5609162 salincak, 6n sag, alt
84114506 pblyar PAIR:5609163
Barra oscilante, suspension de ruedas
Triangle de suspension
5609163 WISHBONE FRONT,LH
salincak, 6n sol, alt
84114505 pbiyar PAIR:5609162
Barra oscilante, suspension de ruedas
Triangle de suspension
5609168 TRACK CONTROL ARM REAR
denge kolu, arka
e, 22502203 pbiuar

Barra oscilante, suspensién de ruedas
Triangle de suspension

STOCK AND PRICE INFO ONLINE
2023-12 (BY APPLICATION) WWW.FORMPART.COM 2 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

- TRACK CONTROL ARM BUSH BOTH SIDES,REAR
“ 5600107 denge kol burcu, arka sag-sol 40,2x14,4x52 mm
22902203 caineHT6noK For 5609168
y ' "/ Casquillo cojinete, brazo oscilante
T— Silent bloc de suspension
CADILLAC STS 08/06-08/15
£ BALL JOINT BOTH SIDES
= 5603052 rotil, 6n sag-sol, iist FRONT UPPER
!1 19168536 waposasn onopa
D A 19177211 Rétula de suspension/carga
- Rotule de suspension
CHEVROLET AVALANCHE 08/02-08/06
5609063 WISHBONE LH, FRONT
5 - salincak, 6n sol, alt
12474417 pblyar noaBecku Pair: 5609064
12475475 Barra oscilante, suspension de ruedas
12475521 . .
Triangle de suspension
5609064 WISHBONE RH, FRONT
. ¢ salincak, 6n sag, alt
12474418 pblyar noaBecku Pair: 5609063
12475476 Barra oscilante, suspension de ruedas
12475522 Triangle de suspension
TRACK CONTROL ARM BUSH BOTH SIDES,REAR
5600108 burg, arka sag-sol 39x14,2x52 mm
; ' 15039398 caiineHT610K
22863710 Casquillo cojinete, brazo oscilante

Silent bloc de suspension

CHEVROLET AVALANCHE (GMT900) 08/07-09/13
SG00108 ko s S
f ' 15039398 calineHT6n0K
22863710 Casquillo cojinete, brazo oscilante
Silent bloc de suspension
CHEVROLET AVEO (T300) 03/11-08/16

. -

5608105

42342547 S1

STABILIZER LINK
denge rotu, 6n sag-sol
cToliKa cTabunusaropa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

FRONT
L=295 mm

STEEL TYPE

2023-12 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

3 0f 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

CHEVROLET BOLT EV 02/17-
STABILIZER LINK FRONT,LH
5608102 denge rotu, 6n sol L=292 mm
42514933 S1 cTolKa cTabunumsartopa PAIR:5608103
42704412 Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
STABILIZER LINK FRONT,RH
5608103 denge rotu, 6n sag L=292 mm
42514934 51 cToiika ctabunusaropa PAIR:5608102
42704413 Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
CHEVROLET CAMARO 4th Generation 08/93-08/02
3 BALL JOINT BOTH SIDES
i 5604037 rotil, 5n sag-sol, it FRONT UPPER
22145478 waposas onopa
Rétula de suspension/carga
Rotule de suspension
CHEVROLET CAMARO 5th Generation 08/10 - 08/15
TRACK CONTROL ARM REAR
5609164 denge kolu, arka sag-sol 3.6L/6.2L
92246140 pblyar
Barra oscilante, suspension de ruedas
Triangle de suspension
CHEVROLET CANYON 2nd Generation 08/12-
_ TIE ROD END BOTH SIDES
g 5602093 rotbasi, 6n sag-sol M14x1,5
22966605 HaKOHEYHUK pyneBoii TArmn
* 84670799 Rétula barra de acoplamiento
Rotule de direction
AXIAL JOINT BOTH SIDES
5607081 rotmili, 6n sag-sol M14x1,5;M16x1,5;L=331 mm
:m 22966604 pynesas Tara
84344235 Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
CHEVROLET CAPRICE 02/01 -
o STABILIZER LINK BOTH SIDES,REAR
5608070 denge rotu, arka sag-sol L=100 mm
g e 92195849 cToiika crabunusatopa
~ Travesafios/barras, estabilizador

Biellette de barre stabilisatrice

2023-12 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

4 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

>

CHEVROLET CAPRICE 01/14-
AXIAL JOINT BOTH SIDES
5607066 rotmili, 6n M14x1,5;M18x1,5;L=271,5 mm
ﬁ_. 19259256 pynesas Tara
: Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure
AXIAL JOINT BOTH SIDES
5607101 rotmili, n sag-sol M14x1,5;M16x1,5;L=271 mm
‘s—_- 92274700 S1 pyneBas Tara
Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure
. Q‘l
CHEVROLET CITY EXPRESS 08/15- L e
5609122 WISHBONE LEFT,FRONT
salincak, 6n sol
19317748 pblyar PAIR:5609123
545013SH1A Barra oscilante, suspensién de ruedas
5450135H2A Triangle de suspension
5609123 WISHBONE RIGHT,FRONT
salincak, 6n sag
19317747 pblyar PAIR:5609122
19317873 Barra oscilante, suspensién de ruedas
545003SH1A

Triangle de suspension

CHEVROLET COLORADO 1st Generation 08/04-08/11
® BALL JOINT BOTH SIDES
5604047 rotil, 6n sag-sol FRONT
1510411181 waposasn onopa, ycuneHHas
‘@5% 15104112 52 Rétula de suspension/carga
i 89040242 Rotule de suspension
WISHBONE LH
4709008 salincak, 6n, tst sol UPPER, FRONT
% RK620887 pblyar nogBecku Pair: 4709009
15104111 Barra oscilante, suspension de ruedas
8973650110 Triangle de suspension
WISHBONE RH
. 4709009 salincak, 6n, Ust sag UPPER, FRONT
RK620886 pblyar noaBecku Pair: 4709008
15104112 Barra oscilante, suspensién de ruedas
8973650100 Triangle de suspension
STABILIZER LINK BOTH SIDES
5608066 denge rotu, 6n sag-sol L=116 mm
15196366 cTolKa ctabunusaropa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

2023-12 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

5o0f48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

A

CHEVROLET COLORADO Extended cab Picku 09/11- ‘ & ==
. TIE ROD END BOTH SIDES
§ 5602093 rotbasi, n sag-sol M14x1,5
22966605 HAKOHEYHUK pyNeBoi TAru
* 84670799 Rétula barra de acoplamiento
Rotule de direction
AXIAL JOINT BOTH SIDES
5607081 rotmili, n sag-sol M14x1,5;M16x1,5;L=331 mm
:‘f 22966604 pyneBas Tara
84344235 Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure
STABILIZER LINK BOTH SIDES
5608065 denge rotu, &n L=242 mm
; “ mu 94772472 cTolKa ctabunusaropa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
CHEVROLET EQUINOX 08/05-08/09
5609166 TRACK CONTROL ARM REAR,RH
denge kolu, arka sag
20792698 pbiyar PAIR:5609167
Barra oscilante, suspensién de ruedas
Triangle de suspension
5609167 TRACK CONTROL ARM REAR,LH
denge kolu, arka sol
15240206 pbiyar PAIR:5609166
Barra oscilante, suspensién de ruedas
Triangle de suspension
CHEVROLET EQUINOX 01/18-
AXIAL JOINT FRONT; BOTH SIDES
5607072 rotmili, n sag-sol M14x1,5;M16x1,5;L=300 mm
e —— pynesas Tara

Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure

CHEVROLET SILVARADO 1500 08/99-07/06

5609063 WISHBONE LH, FRONT

- salincak, 6n sol, alt
12474417 pblyar noaBecku Pair: 5609064
12475475 Barra oscilante, suspension de ruedas
12475521 Triangle de suspension
5609064 WISHBONE RH, FRONT

- salincak, 6n sag, alt

12474418 pblyar noaBecku Pair: 5609063
12475476 Barra oscilante, suspensién de ruedas
12475522

2023-12 (BY APPLICATION)

Triangle de suspension

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

6 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

5600108

15039398
22863710

-

TRACK CONTROL ARM BUSH
burg, arka sag-sol
caineHT6noK

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

BOTH SIDES,REAR
39x14,2x52 mm

CHEVROLET SILVERADO 1500 08/14-08/18
5609162 WISHBONE FRONT,RH
: salincak, 6n sag, alt
84114506 pblyar PAIR:5609163
Barra oscilante, suspensién de ruedas
Triangle de suspension
5609163 WISHBONE FRONT,LH
L salincak, 6n sol, alt
84114505 pblyar PAIR:5609162
Barra oscilante, suspensién de ruedas
Triangle de suspension
CHEVROLET SILVERADO 2500 08/99-07/10
5609063 WISHBONE LH, FRONT
P = salincak, 6n sol, alt
12474417 pblyar noaBecku Pair: 5609064
12475475 Barra oscilante, suspension de ruedas
12475521 Triangle de suspension
5609064 WISHBONE RH, FRONT
= . salincak, 6n sag, alt
12474418 pblyar noABecku Pair: 5609063
12475476 Barra oscilante, suspension de ruedas
12475522 Triangle de suspension
CHEVROLET SILVEREDO 3500 08/01-07/10
5609063 WISHBONE LH, FRONT
P — salincak, 6n sol, alt
12474417 pblyar noABecKu Pair: 5609064
12475475 Barra oscilante, suspensién de ruedas
12475521 Triangle de suspension
5609064 WISHBONE RH, FRONT
= : salincak, 6n sag, alt
12474418 pblyar noABecku Pair: 5609063
12475476 Barra oscilante, suspension de ruedas
12475522 Triangle de suspension
CHEVROLET SONIC 01/12-12/18

_.& 5608105
g & 4234254751
4

2023-12 (BY APPLICATION)

STABILIZER LINK
denge rotu, 6n sag-sol
cTolKa ctabunusatopa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

FRONT
L=295 mm

STEEL TYPE

7 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

CHEVROLET SUBURBAN (GMT 900) 01/05-
5609063 WISHBONE LH, FRONT
- salincak, 6n sol, alt
12474417 pblyar noABecKu Pair: 5609064
12475475 Barra oscilante, suspension de ruedas
12475521 Triangle de suspension
5609064 WISHBONE RH, FRONT
= : salincak, 6n sag, alt
12474418 pblyar noaBeckun Pair: 5609063
12475476 Barra oscilante, suspensién de ruedas
12475522 Triangle de suspension
TRACK CONTROL ARM BUSH BOTH SIDES,REAR
5600108 burg, arka sag-sol 39x14,2x52 mm
' 15039398 calineHT610K
22863710 Casquillo cojinete, brazo oscilante

Silent bloc de suspension

STABILIZER LINK BOTH SIDES
5608065 denge rotu, 6n L=242 mm
; “m” 94772472 cToliKa cTabunusatopa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
CHEVROLET SUBURBAN 11th Generation 01/15-
FRONT,RH

5609162 WISHBONE

salincak, 6n sag, alt
84114506 pblyar

Barra oscilante, suspensién de ruedas
Triangle de suspension

PAIR:5609163

Triangle de suspension

FRONT,LH

PAIR:5609162

5609168 TRACK CONTROL ARM

denge kolu, arka
22902203 pblyar

Barra oscilante, suspension de ruedas

: |
5609 163 WISHBONE
E salincak, 6n sol, alt
84114505 pblyar
Barra oscilante, suspension de ruedas

Triangle de suspension

REAR

E 3 TRACK CONTROL ARM BUSH BOTH SIDES,REAR
“ 5600107 denge kol burcu, arka sag-sol 40,2x14,4x52 mm
22902203 calineHT610K For 5609168
v ' "/ Casquillo cojinete, brazo oscilante
T— Silent bloc de suspension
5608065 STABILIZER LINK BOTH SIDES
L=242 mm

denge rotu, 6n

. “m“ 94772472 cToliKa cTabunusartopa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

STOCK AND PRICE INFO ONLINE
2023-12 (BY APPLICATION) WWW.FORMPART.COM

8of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

CHEVROLET TAHOE 08/92-08/00 wu=
TRACK CONTROL ARM BUSH BOTH SIDES,REAR
5600108 burg, arka sag-sol 39x14,2x52 mm
‘ ' 15039398 calineHT6noK
22863710 Casquillo cojinete, brazo oscilante
Silent bloc de suspension
CHEVROLET TAHOE 2nd Generation 08/00-08/06
TRACK CONTROL ARM BUSH BOTH SIDES,REAR
5600108 burg, arka sag-sol 39x14,2x52 mm
' 15039398 calineHT6n0K
22863710 Casquillo cojinete, brazo oscilante
Silent bloc de suspension
CHEVROLET TAHOE 01/15-
5609162 WISHBONE FRONT,RH
- salincak, 6n sag, alt
84114506 pbiyar PAIR:5609163
Barra oscilante, suspension de ruedas
Triangle de suspension
5609163 WISHBONE FRONT,LH
salincak, 6n sol, alt
84114505 pblyar PAIR:5609162
Barra oscilante, suspension de ruedas
Triangle de suspension
5609 168 TRACK CONTROL ARM REAR
denge kolu, arka
Ee——mmmm——— 22902203 pivar
Barra oscilante, suspension de ruedas
Triangle de suspension
il TRACK CONTROL ARM BUSH BOTH SIDES,REAR
u 5600107 denge kol burcu, arka sag-sol 40,2x14,4x52 mm
22902203 caineHT6N0K For 5609168
\ - ¢ Casquillo cojinete, brazo oscilante
- Silent bloc de suspension
CHEVROLET TRAILBLAZER 09/01-09/08
TIE ROD END RH
'ﬂV 5601028 rotbasgl, 6n sag, dis M14x1,5
26089598 HAKOHEYHUK pyneBoi TAru PAIR:5601029
b ES3579 Rétula barra de acoplamiento
Rotule de direction
TIE ROD END LH
ﬁ‘ 5601029 rotbasi, 6n sol, dig M14x1,5
26089597 HaKOHEYHUK pyneBoi TAru PAIR:5601028
L ES3578 Rétula barra de acoplamiento

2023-12 (BY APPLICATION)

Rotule de direction

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

9 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

5603053

25784239 S1
25784240

BALL JOINT

rotil, 6n sag-sol, alt
waposas onopa

Rétula de suspension/carga

Rotule de suspension

BOTH SIDES
FRONT LOWER

DODGE

DURANGO 4th Generation

01/17-

6000095

68282728AC S2
68282729AC S2

TRACK CONTROL ARM BUSH
salincak burcu, 6n sag-sol, alt, orta
caineHT6N0K pblyara

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

BOTH SIDES,FRONT
52,3x18,2x72 mm

FOR 6009133/4

DODGE RAM 1500 (DJ,DS) 10/08-
5609151 STRUT CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol, st
H 52855800AB pblyar
52855800AC Barra oscilante, suspension de ruedas
52855800AE Triangle de suspension
5609152 STRUT CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol, alt
eeeesbe— 25500 potar
52855801AD Barra oscilante, suspension de ruedas
52855801AF Triangle de suspension
GMC CANYON 1st Generation 08/04-08/12
- BALL JOINT BOTH SIDES
5604047 rotil, 6n sag-sol FRONT
15104111 S1 wapoBas onopa, ycuieHHasa
@S% 15104112 52 Rétula de suspension/carga
e 83040242 Rotule de suspension
WISHBONE LH
4709008 salincak, 6n, Gst sol UPPER, FRONT
A RK620887 pblyar noABecKu Pair: 4709009
15104111 Barra oscilante, suspensién de ruedas
8973650110 Triangle de suspension
WISHBONE RH
. 4709009 salincak, 6n, Gst sag UPPER, FRONT
RK620886 pblyar noaBeckun Pair: 4709008
15104112 Barra oscilante, suspensién de ruedas
8973650100 Triangle de suspension
STABILIZER LINK BOTH SIDES
5608066 denge rotu, 6n sag-sol L=116 mm
15196366 cTolKa cTabunusaropa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

2023-12 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

10 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

GMC

CANYON 2nd Generation

08/12-

™ .
v

e

5608065

94772472

STABILIZER LINK
denge rotu, 6n
cTolKa cTabunumsartopa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

BOTH SIDES
L=242 mm

Barra oscilante, suspensién de ruedas

GMC ENVOY 2nd Generation 08/02-08/09
TIE ROD END RH
- 5601028 rotbagl, 6n sag, dis M14x1,5
26089598 HAKOHEUYHUK py/NieBoW TArU PAIR:5601029
&) ES3579 Rétula barra de acoplamiento
Rotule de direction
TIE ROD END LH
ﬁ‘ 5601029 rotbasi, 6n sol, dig M14x1,5
26089597 HaKOHEYHUK pyneBoii TArmn PAIR:5601028
L ES3578 Rétula barra de acoplamiento
Rotule de direction
& BALL JOINT BOTH SIDES
w 5603053 rotil, 6n sag-sol, alt FRONT LOWER
H 25784239 S1 waposas onopa
o 25784240 Rétula de suspensién/carga
< Rotule de suspension
GMC SIERRA 1500 09/99 - 12/04 w
5609063 WISHBONE LH, FRONT
P = salincak, 6n sol, alt
12474417 pblyar noaBecku Pair: 5609064
12475475 Barra oscilante, suspension de ruedas
12475521 Triangle de suspension
5609064 WISHBONE RH, FRONT
= . salincak, 6n sag, alt
12474418 pblyar noaBecKku Pair: 5609063
12475476 Barra oscilante, suspension de ruedas
12475522 Triangle de suspension
GMC SIERRA 1500 08/14-
5609162 WISHBONE FRONT,RH
£ salincak, 6n sag, alt
84114506 pbluar PAIR:5609163
Barra oscilante, suspension de ruedas
Triangle de suspension
5609163 WISHBONE FRONT,LH
E salincak, on sol, alt
84114505 pblyar PAIR:5609162

Triangle de suspension

2023-12 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

11 0f 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

GMC SIERRA 2500 08/99-09/10
5609063 WISHBONE LH, FRONT
o = salincak, 6n sol, alt
12474417 pblyar noaBecku Pair: 5609064
12475475 Barra oscilante, suspension de ruedas
12475521 Triangle de suspension
5609064 WISHBONE RH, FRONT
= . salincak, 6n sag, alt
12474418 pblyar noaBecku Pair: 5609063
12475476 Barra oscilante, suspension de ruedas
12475522 Triangle de suspension
' TRACK CONTROL ARM BUSH BOTH SIDES,REAR
5600108 burg, arka sag-sol 39x14,2x52 mm
' 15039398 calineHT6noK
22863710 Casquillo cojinete, brazo oscilante
Silent bloc de suspension
GMC SIERRA 3500 08/01-07/11
5609063 WISHBONE LH, FRONT
= = salincak, on sol, alt
12474417 pblyar noABecku Pair: 5609064
12475475 Barra oscilante, suspension de ruedas
12475521 Triangle de suspension
5609064 WISHBONE RH, FRONT
= . salincak, 6n sag, alt
12474418 pblyar noABecKku Pair: 5609063
12475476 Barra oscilante, suspensién de ruedas
12475522 Triangle de suspension
r!m
GMC TERRAIN 08/18 - 08/19 AAT &2
v N
5607072 AXIAL JOINT FRONT; BOTH SIDES

|

23479354

rotmili, 6n sag-sol

pynesas TAra

Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure

M14x1,5;M16x1,5;L=300 mm

GMC YUKON 2nd Generation 08/00-08/06

5609063 WISHBONE LH, FRONT

= = salincak, 6n sol, alt
12474417 pblyar noaBecku Pair: 5609064
12475475 Barra oscilante, suspension de ruedas
12475521 Triangle de suspension
5609064 WISHBONE RH, FRONT

= . salincak, 6n sag, alt

12474418 pblyar noaBecku Pair: 5609063
12475476 Barra oscilante, suspensién de ruedas
12475522

Triangle de suspension

2023-12 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

12 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

GMC YUKON GMT900 08/07-08/14
5609063 WISHBONE LH, FRONT
4 — salincak, 6n sol, alt
12474417 pblyar noaBecku Pair: 5609064
12475475 Barra oscilante, suspension de ruedas
12475521 Triangle de suspension
.
GMC YUKON 4th Generation 01/15-11/19 .o B T
5609162 WISHBONE FRONT,RH
# salincak, 6n sag, alt
84114506 pbiyar PAIR:5609163
Barra oscilante, suspension de ruedas
Triangle de suspension
5609163 WISHBONE FRONT,LH
. salincak, on sol, alt
84114505 pblyar PAIR:5609162
Barra oscilante, suspensién de ruedas
Triangle de suspension
5609168 TRACK CONTROL ARM REAR
denge kolu, arka
= 22902203 potuar
Barra oscilante, suspensién de ruedas
Triangle de suspension
TRACK CONTROL ARM BUSH BOTH SIDES,REAR
5600107 denge kol burcu, arka sag-sol 40,2x14,4x52 mm
22902203 caineHT6N0K For 5609168

&/

L
&

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

HONDA ACCORD VII (CL, CN) 09/03 -08/12
3600105 Ak couTroL e s
52210-SWA-A00 caineHT6N0K FOR 3609118

52210-SWE-T00
52215-SWA-A00

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

HONDA ACCORD VII Tourer (CM) 04/03 -07/08
3600104 El:l{-\c(llla(r(lj((:NTROL ARM BUSH zgﬁilz,sxso .
52622SP0003 caineHTbnoK
526225X0003

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

STOCK AND PRICE INFO ONLINE

2023-12 (BY APPLICATION) WWW._FORMPART.COM 13 0f 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

HONDA Civic vil 02/01 - 09/05 M
BALL JOINT BOTH SIDES
3603046 rotil, 6n sag-sol, alt FRONT LOWER
51210S5AJ20 wapoBas onopa
51210S5AJ30 Rétula de suspension/carga
5121056M000 Rotule de suspension
HONDA CIVIC VIII (FD, FA, JAPAN) 09/05 - A .
3609184 TRACK CONTROL ARM REAR,RH
denge kolu, arka sag, Ust
52390SNA900 S1 pbiyar PAIR:3609185
52390SNAAQO S1 Barra oscilante, suspension de ruedas
Triangle de suspension
3609185 TRACK CONTROL ARM REAR,LH
denge kolu, arka sol, Uist
52400SNA900 pbiyar PAIR:3609184
- 52400SNAAQ0 S1 Barra oscilante, suspensién de ruedas

Triangle de suspension

HONDA CIVIC IX (FK) 02/12 -
? 3604013 Fti n ssf-o FRONT
51220TS9A01 wapoBas onopa Only for 2014-2015
Rétula de suspension/carga
Rotule de suspension
HONDA CIVIC X (FC) 08/16-
3600106 TRACK CONTROL ARM BUSH BOTH SIDES,REAR

52320TBAAO1 S1

denge rot kolu, arka sag-sol
caiineHT6N0K pbluara

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

FOR 3608066

HONDA CR-V I 10/06 -

TIE ROD END FRONT

3602059 rotbasi, 6n sag-sol BOTH SIDES

53540SXSA01 HAKOHEUYHUK py/NeBoi TAru

i 535405XSA02 Rétula barra de acoplamiento
- ES800303 Rotule de direction

3609141 STRUT CONTROL ARM REAR,BOTH SIDES
denge kolu, arka sag-sol
pblyar

52390SWAA00
52390T1WA10

2023-12 (BY APPLICATION)

Barra oscilante, suspensién de ruedas
Triangle de suspension

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

14 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

3600105

52210-SWA-A00
52210-SWE-T0O
52215-SWA-A00

TRACK CONTROL ARM BUSH
denge kol burcu, arka
caineHT6noK

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

REAR
41,6x12,3x50 mm

FOR 3609118

HONDA CR-V IV (RM) 01/12-
REAR,BOTH SIDES
3609 141 STRUT CONTROL AF}M ,
denge kolu, arka sag-sol
52390SWAAQ00 pblyar
52390T1IWA10 Barra oscilante, suspensién de ruedas
Triangle de suspension
HONDA CR-V V (RW, RT) 01/17-
FRONT,RH
3609148 WISHBONE '
salincak, 6n sag, alt
51350TLAA70 pbiyar PAIR:3609149
51350-TLA-A71 Barra oscilante, suspension de ruedas
51350TNYJ00 Triangle de suspension
3609149 WISHONE FRONT.LH
salincak, 6n sol, alt
51360-TLA-A70 pbiyar PAIR:3609148

51360-TLA-A71

Barra oscilante, suspension de ruedas

51360TNYJ00 Triangle de suspension
3609188 WISHBONE FRONT,LH
salincak, 6n sol, alt with ball joint 3604017
51360TNYJOO S1 pbiyar PAIR:3609189
Barra oscilante, suspensién de ruedas
Triangle de suspension
3609189 WISHBONE FRONT,RH
salincak, 6n sag, alt with ball joint 3604017
51350TNYJOO S1 pbiyar PAIR:3609188
Barra oscilante, suspension de ruedas
Triangle de suspension
3600084 TRACK CONTROL ARM BUSH FRONT,LH
salincak burcu, biiyiik, 6n sol, alt, dis FOR 3609149;3609188
51395TLAA71S3 caneHTbNOoK pbluara PAIR:3600083
51396TLAA70S3 Casquillo cojinete, brazo oscilante
Silent bloc de suspension
3600085 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
salincak burcu, kiigiik, &n sag-sol, alt, ig 38,1x14,2x60 mm
51350TLAA71S1 caiineHT6NOoK pbluara FOR 3609148/9;3609188/9
51350TNYJ00 S2 Casquillo cojinete, brazo oscilante
51360TLAA71 53 Silent bloc de suspension
3603037 BALL JOINT BOTH SIDES
‘ rotil, 6n sag-sol, alt FRONT LOWER
51210SCV000 waposas onopa
51210SJF000 Casquillo cojinete, brazo oscilante
5121556M010

2023-12 (BY APPLICATION)

Rotule de suspension

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

15 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

STABILIZER LINK LEFT,REAR
3608104 denge rotu, arka sol L=89 mm
52321SCVA91 cTolKa cTtabunusartopa PAIR:3608105
52321SCVA92 Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
STABILIZER LINK RIGHT,REAR
3608105 denge rotu, arka sag L=89 mm
52320SCVA91 cTolKa cTtabunusaropa PAIR:3608104
1 52320SCVA92 Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
HONDA FIT 08/07-08/13
3609194 WISHBONE FRONT,RH
salincak, 6n sag, alt
51350TX9A01 S1 pbluar PAIR:3609195
Barra oscilante, suspensién de ruedas
Triangle de suspension
; 3609195 WISHBONE FRONT,LH
salincak, on sol, alt
51360TX9A01 S1 pbiyar PAIR:3609194
Barra oscilante, suspensién de ruedas
Triangle de suspension
HONDA FIT ( GK,Hatchback) 05/14-08/20
—ﬂ‘: BALL JOINT
&) 5603050 rotil, &n, alt FRONT LOWER
51350TX9A01 waposasn onopa
51360TX9A01 Rétula de suspension/carga
= Rotule de suspension
HONDA ODYSSEY (RL3,RL4) 3st Generat 08/05-07/11
3609190 TRACK CONTROL ARM REAR,RH
denge kolu, arka sag, alt
52371SHJA02 pbiyar PAIR:3609191
Barra oscilante, suspensién de ruedas
Triangle de suspension
3609191 TRACK CONTROL ARM REAR,LH
denge kolu, arka sol, alt
52372SHJA02 pblyar PAIR:3609190
Barra oscilante, suspensién de ruedas
Triangle de suspension
HONDA ODESSEY 09/17-
STABILIZER LINK REAR,LH
3608127 denge rotu, arka sol L=72 mm
52325THRAO1 cTolKa ctabunusatopa PAIR:3608128

@& ?'} {"E"A

2023-12 (BY APPLICATION)

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

16 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

STABILIZER LINK REAR,RH
3608128 denge rotu, arka sag L=72 mm
52320THRAO1 cTolKa cTtabunusartopa PAIR:3608127
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
HONDA PASSPORT 08/98-09/02
% TIE ROD END BOTH SIDES
iE 3602102 rotbasl, 6n sag-sol M14x1,5
8971603950 HAKOHEYHUK py/NeBoW TArU
8971704500 Rotula barra de acoplamiento
Rotule de direction
HONDA PILOT 2nd Generation 09/08-08/14
3609192 TRACK CONTROL ARM REAR
denge kolu, arka, alt
H 04523STX000 pblyar
52345SZAA50 Barra oscilante, suspension de ruedas
Triangle de suspension
TRACK CONTROL ARM BUSH REAR
3600107 denge kol burcu, arka, alt, 6n i¢ 43x14,15x54 mm
’ 52345SZAA50 S1 caineHTbNoK pblyara FOR 3609192
Casquillo cojinete, brazo oscilante
Silent bloc de suspension
TRACK CONTROL ARM BUSH REAR
3600108 denge kol burcu, arka, alt, 6n dis 43x14,2x50 mm
. ) 52345SZAA50 S2 caineHTbNOoK pbluara FOR 3609192
Casquillo cojinete, brazo oscilante
Silent bloc de suspension
HONDA RIDGELINE 08/06-08/14
3609193 TRACK CONTROL ARM REAR
denge kolu, arka, alt
H 523455)CA02 poivar
Barra oscilante, suspensién de ruedas
Triangle de suspension
HONDA SHUTTLE 06/95 -
TRACK CONTROL ARM BUSH REAR
3600104 burg, arka 40,1x12,3x50 mm
’ 52622SP0003 caineHT6N0K
52622SX0003

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

2023-12 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

17 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

HYUNDAI GRANDEUR (LX) 08/92 - 09/99
4900025 TRACK CONTROL ARM BUSH
burg, arka
5554335000 caﬁieu'rﬁnox
5554335010 Casquillo cojinete, brazo oscilante
555433F100

Silent bloc de suspension

REAR
70,2x14,3x70 mm

HYUNDAI i30 (PDE, PD, PDEN) 11/16- L &:;!
4304021 rti, n sst FRONT
54501G4AA0 waposas onopa PAIR:4904022

Rétula de suspension/carga
Rotule de suspension

L]
4904022 BALLOINT
rotil, 6n sol
54500G4AA0 waposas onopa

Rétula de suspension/carga
Rotule de suspension

LH
FRONT

PAIR:4904021

HYUNDAI KONA 08/17-
= TRACK CONTROL ARM BUSH BOTH SIDES,REAR
e 3700105 denge kol burcu, arka sag-sol, Ust 41x14,2x45 mm
55120J9500 caineHT6n0K FOR 3705002/3;3709154/5
55121J9500 Casquillo cojinete, brazo oscilante
N

Silent bloc de suspension

HYUNDAI PALISADE (LX2) 12/18-
p BOTH SIDES
e 3704030 foAt:.I!.tJSglsl\;-g-sol, alt FRONT
6 G " 5453051000 waposas onopa
’ \ - Rétula de suspension/carga

Rotule de suspension

HYUNDAI SANTA FE IV (TM,TMA) 02/18-
3702068 TIEbROD ENDI
rotbasi, 6n so
56820M5000 HaKOie‘JHMK pyneBoii TArn

Rétula barra de acoplamiento
Rotule de direction

LH
M16x1,5

PAIR:3702069

3702069 TIE ROD END
rotbasl, 6n sag
56825M5000 HaKOHEYHUK pyneBoii TArmn

Rétula barra de acoplamiento
Rotule de direction

STOCK AND PRICE INFO ONLINE
2023-12 (BY APPLICATION) WWW.FORMPART.COM

RH
M16x1,5

PAIR:3702068

18 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

§ BALL JOINT BOTH SIDES
P 3704030 rotil, 6n sag-sol, alt FRONT
6 > 5453051000 wapoBas onopa
-
. \ -> Rétula de suspension/carga
S — .
Rotule de suspension
HYUNDAI SONATAIlI 05/93 - 08/98
TRACK CONTROL ARM BUSH REAR
4900025 burg, arka 70,2x14,3x70 mm
5554335000 caiineHT610K
5554335010 Casquillo cojinete, brazo oscilante
555433F100

Silent bloc de suspension

HYUNDAI SONATA VII (LF) 09/15-
TRACK CONTROL ARM LH
3705002 denge kolu, arka sol, st REAR
0— ~J 55110C3000 pbiyar Pair: 3705003
- @ 55110C€2100 Barra oscilante, suspension de ruedas
Triangle de suspension
TRACK CONTROL ARM RH
3705003 denge kolu, arka sag, ust REAR
'o_, s .@ 55120C3000 pblyar Pair: 3705002
3 55120C2100 Barra oscilante, suspension de ruedas
Triangle de suspension
3 TRACK CONTROL ARM BUSH BOTH SIDES,REAR
e 3700105 denge kol burcu, arka sag-sol, tist 41x14,2x45 mm
55120J9500 caiineHT610K FOR 3705002/3;3709154/5
55121J9500 Casquillo cojinete, brazo oscilante
. Silent bloc de suspension
HYUNDALI TRAIJET FO 03/00 -08/08
BALL JOINT BOTH SIDES
3704013 rotil, 6n sag-sol, alt FRONT
545013A100 waposas onopa
. ‘ 545013A201 Rétula de suspension/carga
> 545023A100 Rotule de suspension
HYUNDAI TUCSON NX4 01/20-
> TIE ROD END RH
,;”v 3702080 rotbasi, 6n sag M16x1,5
& 56825N9100 HaKOHEYHWK pPy/NeBO TArK PAIR:3702081
Rétula barra de acoplamiento
Rotule de direction
® TIE ROD END LH
;“;’ 3702081 rotbasi, 6n sol M16x1,5
56820N9100 HaKOHEYHUK pyneBoii TArn PAIR:3702080
Rétula barra de acoplamiento

2023-12 (BY APPLICATION)

Rotule de direction

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

19 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

AXIAL JOINT BOTH SIDES
3707070 rotmili, 6n sag-sol M16x1,5;M16x1,5;L=235 mm
‘m 56540N9000 pynesas Tara
Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure
STABILIZER LINK FRONT
" 4908045 denge rotu, 6n L=350 mm
s “ 54830N9000 cTolKa cTtabunusaropa
i 54830-C5000 Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
HYUNDAI XG (XG300) 12/98 -08/01
TRACK CONTROL ARM BUSH REAR
4900025 burg, arka 70,2x14,3x70 mm
5554335000 caiineHT6N10K
5554335010 Casquillo cojinete, brazo oscilante
555433F100 Silent bloc de suspension
HYUNDAI XG (XG300) 08/02-12/05
TRACK CONTROL ARM BUSH REAR
4900025 burg, arka 70,2x14,3x70 mm
5554335000 caineHT6N0K
5554335010 Casquillo cojinete, brazo oscilante
555433F100 Silent bloc de suspension
INFINITY FX35 2nd Generation 10/08-
STABILIZER LINK REAR,LH
& 4108168 denge rotu, arka sol L=130 mm
546681CAO0A cTolKa ctabunusaropa Pair: 4108169
o 546681CA3B Travesafios/barras, estabilizador
546681CA4B Biellette de barre stabilisatrice
STABILIZER LINK REAR,RH
J 4108169 denge rotu, arka sag L=130 mm
. 546181CAO0A cTolKa cTabunusaropa Pair: 4108168
- 546181CA28B Travesafios/barras, estabilizador
546181CA3B Biellette de barre stabilisatrice
A WISHBONE FRONT,LH
— 4109132 salincak, 6n sol, Ust Aluminium
‘ 545251CA0A pblyar PAIR:4109133
:._} Barra oscilante, suspensién de ruedas
e . .
Triangle de suspension
. WISHBONE FRONT,RH
® 4109133 salincak, 6n sag, Ust Aluminium
‘ 545241CA0A pbiyar PAIR:4109132
e
._,;’/ Barra oscilante, suspension de ruedas

Triangle de suspension

2023-12 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

20 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

INFINITY FX-50 08/09-09/13
. WISHBONE FRONT,LH
- 4109132 salincak, 6n sol, tist Aluminium
‘ 545251CAOA pbluar PAIR:4109133
u:;s Barra oscilante, suspension de ruedas
Triangle de suspension
. WISHBONE FRONT,RH
® 4109133 salincak, 6n sag, st Aluminium
Ji ,_‘ 545241CAO0A pbiyar PAIR:4109132
._;/ ’ Barra oscilante, suspension de ruedas
Triangle de suspension
INFINITY G25 08/11-
4107084 AXIAL JOINT BOTH SIDES,FRONT

h D8521JK01A

rotmili, 6n sag-sol
pynesas Tara

Articulacion axial, barra de acoplamiento
Rotule de direction intérieure

M14x1,5;M16x1;L=152 mm

INFINITY G35 08/03-
4100096 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
salincak burcu, tst, 6n sag-sol 30,6x10,3x50 mm
545241CA0OA S1 caineHT6N0K FOR
54524AL500 S1 Casquillo cojinete, brazo oscilante 4109200/1;4109130/1/2/3;4109084/5;41091
54524CFO0A S1 45/6;4109243/4
Silent bloc de suspension
INFINITY G37 08/10-09/12
4107084 AXIAL JOINT BOTH SIDES,FRONT
rotmili, 6n sag-sol M14x1,5;M16x1;L=152 mm
h D8521JK01A pynesas Tara
g Articulacién axial, barra de acoplamiento
Rotule de direction intérieure
_~ 3 4109145 WISHBONE FRONT,LH
) /_ salincak, 6n sol, st
. 54525JLO0A pblyar nogBecku PAIR:4109146
x\}* 54525JL00B Barra oscilante, suspensién de ruedas
54525]100C Triangle de suspension
{\\\\ 4109146 WISHBONE FRONT,RH
salincak, 6n sag, Ust
j‘ 54524JL00A pblyar PAIR:4109145
. 54524JL00B Barra oscilante, suspensién de ruedas
54524)L.00C

Triangle de suspension

2023-12 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

21 0f 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

INFINITY J30

08/92-09/97

4107086

AXIAL JOINT
rotmili, 6n sag-sol

BOTH SIDES,FRONT
M14x1,5;M16x1;L=264 mm

_ 485210P701 pynesas Tara
. p— 4852179700 Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure
INFINITY JX 35 08/14-
[ TIE ROD END RH
L:’ 4102148 rotbasl, 6n sag M16x1,5
D85203KA0B HAKOHEUYHUK py/NieBoW TArU PAIR:4102149
Rétula barra de acoplamiento
Rotule de direction
] TIE ROD END LH
® 4102149 rotbasi, 6n sol M16x1,5

P

‘ D86403KA0B

HaKOHEYHUK pyneBoi TAru
Rétula barra de acoplamiento
Rotule de direction

PAIR:4102148

INFINITY M35

08/06-09/10

TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
4100096 salincak burcu, Ust, 6n sag-sol 30,6x10,3x50 mm
545241CA0OA S1 caineHT6N0K FOR
54524AL500 51 Casquillo cojinete, brazo oscilante 4109200/1;4109130/1/2/3;4109084/5;41091
54524CFO0A S1 45/6;4109243/4
Silent bloc de suspension
INFINITY M35H 08/12-09/13
o 4109200 WISHBONE FRONT,RH
. salincak, 6n sag, Ust
@ 545241MA0A pbiuar PAIR:4109201
'_/ Barra oscilante, suspensién de ruedas
Triangle de suspension
‘- 4109201 WISHBONE FRONT,LH
salincak, 6n sol, st
& 545251MAOA pbivar PAIR:4109200

Barra oscilante, suspensién de ruedas
Triangle de suspension

2023-12 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

22 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

. -—’
4100096 TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
salincak burcu, st, 6n sag-sol 30,6x10,3x50 mm
545241CAOA S1 caineHT6noK FOR
54524AL500 51 Casquillo cojinete, brazo oscilante 4109200/1;4109130/1/2/3;4109084/5;41091
54524CFO0A S1 45/6;4109243/4
Silent bloc de suspension
4108147 STABILIZER LINK FRONT,LH
@ denge rotu, 6n sol L=250 mm
° Q 54668AR000 S1 croiika crabunusatopa Steel / Pair: 4108148
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
4108148 STABILIZER LINK FRONT,RH
denge rotu, 6n sag L=250 mm

a b’ 54618AR000 cTolKa ctabunusartopa Steel / Pair: 4108147
N Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
INFINITY M37 03/10-
a2 4109200 WISHBONE FRONT,RH
. salincak, 6n sag, Ust
& 545241MAOA pbiuar PAIR:4109201
_/" o Barra oscilante, suspensién de ruedas
Triangle de suspension
S 4109201 WISHBONE FRONT,LH
salincak, 6n sol, st
& 545251MAOA phivar PAIR:4109200
:\‘* Barra oscilante, suspension de ruedas
Triangle de suspension
4108155 STABILIZER LINK REAR,LH
fﬁ. ’ denge rotu, 6n sol L=195 mm; Steel
546681MAOA S1 CTOWKa cTabunusaropa Pair: 4108156
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
4108156 STABILIZER LINK REAR,RH
| !) denge rotu, 6n sag L=195 mm; Steel
546181MAOA S1 CTOWKa cTabunusaropa Pair: 4108155
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
INFINITY M56 01/11-12/13
& 4109200 WISHBONE FRONT,RH
. salincak, 6n sag, st
.0 545241MAOA pblyar PAIR:4109201
.—_‘// Barra oscilante, suspension de ruedas
Triangle de suspension
o 4109201 WISHBONE FRONTH
salincak, 6n sol, st
& 545251MAOA pbiuar PAIR:4109200

2023-12 (BY APPLICATION)

Barra oscilante, suspension de ruedas
Triangle de suspension

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

23 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

STABILIZER LINK REAR,LH
i 4108155 denge rotu, 6n sol L=195 mm; Steel
546681MAOA S1 cTolKa cTtabunusartopa Pair: 4108156
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
STABILIZER LINK REAR,RH
4108156 denge rotu, 6n sag L=195 mm; Steel
546181MAOA S1 cTolKa cTtabunusaropa Pair: 4108155
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
INFINITY Q40 01/15-
4107084 AXIAL JOINT BOTH SIDES,FRONT

h D8521JK01A

rotmili, 6n sag-sol

pynesas Tara

Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure

M14x1,5;M16x1;L=152 mm

INFINITY Q45 01/02 -06/12
- 4107090 lr-\o)i:hilngN;g_sm aolTlll;l(ls,IE;EMSlle,S;L=286 mm
it 48521AR000 pynesas Tara

48521-AR026
48521-AR028

Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure

4108147 STABILIZER LINK FRONT,LH
@ denge rotu, 6n sol L=250 mm
° 54668AR000 S1 cToiKa ctabunusaropa Steel / Pair: 4108148
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
4108148 STABILIZER LINK FRONT,RH
® denge rotu, 6n sag L=250 mm
a b 54618AR000 cToliKa ctabunusaropa Steel / Pair: 4108147
- Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
INFINITY Q50 04/14-
_F 3 4109145 WISHBONE FRONT,LH
) / salincak, on sol, st
. 54525JLO0A pblyar nogBecku PAIR:4109146
%;‘ 54525JL00B Barra oscilante, suspensién de ruedas
54525JL00C Triangle de suspension
L\\ 4109146 WISHBONE FRONT,RH
salincak, 6n sag, Ust
54524JL00A pblyar PAIR:4109145
") 54524JL00B Barra oscilante, suspension de ruedas
54524JL00C

Triangle de suspension

2023-12 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

24 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

INFINITY Qxeo0 08/14-
[ TIE ROD END RH
;:’ 4102148 rotbasi, 6n sag M16x1,5
D85203KA0B HaKOHEYHUK pPyneBoit TAru PAIR:4102149
Rétula barra de acoplamiento
Rotule de direction
) TIE ROD END LH
(:, 4102149 rotbasl, 6n sol M16x1,5
D86403KA0B HaKOHEYHWK Py/NeBO TArn PAIR:4102148
Rétula barra de acoplamiento
Rotule de direction
INFINITY Q60 10/13-
/ §] 4109145 WISHBONE FRONT,LH
) / salincak, 6n sol, st
. 54525JLO0A pblyar nogBecku PAIR:4109146
KH\Q;;. 54525JL00B Barra oscilante, suspensién de ruedas
54525JL00C Triangle de suspension
WISHBONE FRONT,RH
{\\\\ 4109146 salincak, 6n sag, Uist
'j‘ 54524JL00A pblyar PAIR:4109145
5 e 54524JL00B Barra oscilante, suspensién de ruedas
54524JL00C Triangle de suspension
INFINITY Q70 (Y51) 3.7 10/13-
o 4109200 WISHBONE FRONT,RH
salincak, 6n sag, Ust
545241MAOA pblyar PAIR:4109201
Barra oscilante, suspension de ruedas
Triangle de suspension
4109201 WISHBONE FRONT,LH
salincak, 6n sol, st
545251MAOA pblyar PAIR:4109200
Barra oscilante, suspension de ruedas
Triangle de suspension
TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
4100096 salincak burcu, Gst, 6n sag-sol 30,6x10,3x50 mm
545241CA0A S1 caineHT6N0K FOR
54524AL500 S1 Casquillo cojinete, brazo oscilante 4109200/1;4109130/1/2/3;4109084/5;41091
54524CFO0A S1 45/6;4109243/4

Silent bloc de suspension

4108168

STABILIZER LINK
denge rotu, arka sol

REAR,LH
L=130 mm

546681CAOA cTolKa ctabunusatopa Pair: 4108169

546681CA3B Travesafios/barras, estabilizador

S46681CA4B Biellette de barre stabilisatrice

4108169 STABILIZER LINK REAR,RH
denge rotu, arka sag L=130 mm

cTolKa cTabunusaropa

Pair: 4108168

546181CA2B Travesafios/barras, estabilizador
546181CA3B

i
b—o
4
H 546181CAOA

Biellette de barre stabilisatrice

STOCK AND PRICE INFO ONLINE

2023-12 (BY APPLICATION) WWW._FORMPART.COM 25 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

INFINITY Qx70 09/14-
: WISHBONE FRONT,LH
- 4109132 salincak, 6n sol, Ust Aluminium
‘ 545251CAOA pbluar PAIR:4109133
i—au.\g;m Barra oscilante, suspension de ruedas
Triangle de suspension
. WISHBONE FRONT,RH
® 4109133 salincak, 6n sag, st Aluminium
) ‘ 545241CAO0A pbiyar PAIR:4109132
._;/ ’ Barra oscilante, suspension de ruedas
Triangle de suspension
TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
4100096 salincak burcu, Gst, 6n sag-sol 30,6x10,3x50 mm
545241CAOA S1 calineHT610K FOR
54524AL500 S1 Casquillo cojinete, brazo oscilante 4109200/1;4109130/1/2/3;4109084/5;41091
54524CFO0A S1 45/6;4109243/4
Silent bloc de suspension
ISUZU ASCENDER 08/03-08/08
& BALL JOINT BOTH SIDES
wi 5603053 rotil, 6n sag-sol, alt FRONT LOWER
d 25784239 S1 waposas onopa
o 25784240 Rétula de suspension/carga
- Rotule de suspension
.
ISUZU D-MAX (TFR,TFS) 06/12- e
WISHBONE LH
4709008 salincak, 6n, Ust sol UPPER, FRONT
E RK620887 pblyar noaBecKu Pair: 4709009
15104111 Barra oscilante, suspension de ruedas
8973650110 Triangle de suspension
WISHBONE RH
. 4709009 salincak, 6n, Ust sag UPPER, FRONT
RK620886 pblyar noaBecku Pair: 4709008
15104112 Barra oscilante, suspension de ruedas
8973650100 Triangle de suspension
ISUZU RODEO 08/81-09/04
®. TIE ROD END BOTH SIDES
2] 3602102 rotbasi, n sag-sol M14x1,5
8971603950 HaKOHEYHUK pyneBoi TAru
8971704500

Rétula barra de acoplamiento
Rotule de direction

2023-12 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

26 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

JAGUAR

E-PACE (X 540)

01/17-

4800017

J9C1348 51
J9C1717 S1
J9C6195 S1

TRACK CONTROL ARM BUSH
denge kol burcu, arka sag-sol, Ust
caineHT6NOoK pblyara

Casquillo cojinete, brazo oscilante

Silent bloc de suspension

BOTH SIDES,REAR

44,5x12,2x62,3 mm

FOR
4805007/8;4809020/1;1709038;1709048/9

JAGUAR XF SPORTBRAKE (CC9_) 08/12-08/ 14
WISHBONE RH
4809012 salincak, 6n, Ust sag UPPER, FRONT
‘ C2729115 pblyar Pair: 4809013
i XR822284 Barra oscilante, suspensién de ruedas
XR857652 Triangle de suspension
WISHBONE LH
4809013 salincak, 6n, Gst sol UPPER, FRONT
C2729117 pblyar Pair: 4809012
XR822285 Barra oscilante, suspension de ruedas
XR857653 Triangle de suspension
JAGUAR XF SERIES X260 05/15-
WISHBONE RH
4809012 salincak, 6n, Ust sag UPPER, FRONT
. C2729115 pblyar Pair: 4809013
!k XR822284 Barra oscilante, suspension de ruedas
XR857652 Triangle de suspension
WISHBONE LH
4809013 salincak, 6n, Ust sol UPPER, FRONT
C2729117 pbiyar Pair: 4809012
XR822285 Barra oscilante, suspension de ruedas
XR857653 Triangle de suspension
TRACK CONTROL ARM BUSH BOTH SIDES
4800006 rotilli kol burcu, biiylk, 6n sag-sol BIG BUSH; 80,2x14,2x85 mm
T2H24313 S1 caiineHT610K for 4805002
T2H3196 S1 Casquillo cojinete, brazo oscilante
Silent bloc de suspension
JAGUAR XE (JA_) 15 -
TRACK CONTROL ARM BUSH BOTH SIDES
4800006 rotilli kol burcu, buyiik, 6n sag-sol BIG BUSH; 80,2x14,2x85 mm
T2H24313 S1 caiineHT610K for 4805002
T2H3196 S1

Casquillo cojinete, brazo oscilante
Silent bloc de suspension

2023-12 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

27 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

JAGUAR XE (X760)

03/15-

4800017

TRACK CONTROL ARM BUSH
denge kol burcu, arka sag-sol, Ust

BOTH SIDES,REAR
44,5x12,2x62,3 mm

J9C1348 S1 caineHT6NOoK pblyara FOR
J9C1717 51 Casquillo cojinete, brazo oscilante 4805007/8;4809020/1;1709038;1709048/9
J9C6195 S1
Silent bloc de suspension
JEEP GRAND CHEROKEE V 11/16 -
TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
6000095 salincak burcu, 6n sag-sol, alt, orta 52,3x18,2x72 mm
| 68282728AC S2 caneHTbNOoK pblyara FOR 6009133/4
68282729AC S2 Casquillo cojinete, brazo oscilante
Silent bloc de suspension
KIA CARENS IV 03/13-
4909068 WISHBONE FRONT,LH
salincak, 6n sol
54500A4000 pblyar noABecKku PAIR:4909069
Barra oscilante, suspensién de ruedas
Triangle de suspension
4909069 WISHBONE FRONT,RH
salincak, 6n sag
54501A4000 pblyar noABeCcKuU PAIR:4909068
Barra oscilante, suspensién de ruedas
Triangle de suspension
KIA CEED (CD) 03/18-
BALL JOINT RH
4904021 rotil, 6n sag FRONT
54501G4AA0 wapoBas onopa PAIR:4904022
Rétula de suspension/carga
. Rotule de suspension
BALL JOINT LH
4904022 rotil, 6n sol FRONT
54500G4AA0 wapoBas onopa PAIR:4904021
Rétula de suspension/carga
Rotule de suspension
KIA MAGENTIS | (GD,MS) 08/01 -10/05
TRACK CONTROL ARM BUSH REAR
4900025 burg, arka 70,2x14,3x70 mm
5554335000 caineHTbnoK
5554335010 Casquillo cojinete, brazo oscilante
555433F100

2023-12 (BY APPLICATION)

Silent bloc de suspension

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

28 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

KIA OPIRUS 08/03 -07/09
TRACK CONTROL ARM BUSH REAR
4900025 burg, arka 70,2x14,3x70 mm
5554335000 caineHT6N0K
5554335010 Casquillo cojinete, brazo oscilante
555433F100 Silent bloc de suspension
KIA OPTIMA (JF) 09/15-
4907061 AXIAL JOINT FRONT; BOTH SIDES

57724 D4000

rotmili, 6n sol-sag
pynesas Tara

Articulacion axial, barra de acoplamiento
Rotule de direction intérieure

M16x1,5R;M18x1,5R;L=229 mm

4907063

56540-K0000

AXIAL JOINT
rotmili, 6n sag-sol, i¢
pynesas Tara

Articulacién axial, barra de acoplamiento
Rotule de direction intérieure

BOTH SIDES

M16x1,5;M16x1,5;L=305 mm

3705002 TRACK CONTROL ARM LH
denge kolu, arka sol, tst REAR
@— ~J @ 55110C3000 pblyar Pair: 3705003
4 55110C2100 Barra oscilante, suspension de ruedas
Triangle de suspension
3705003 TRACK CONTROL ARM RH
denge kolu, arka sag, Ust REAR
0 - - .@ 55120C3000 pbiyar Pair: 3705002
b 55120C2100 Barra oscilante, suspensién de ruedas
Triangle de suspension
= TRACK CONTROL ARM BUSH BOTH SIDES,REAR
& 3700105
“ denge kol burcu, arka sag-sol, st 41x14,2x45 mm
- 55120J9500 caineHT6noK FOR 3705002/3;3709154/5
55121J9500 Casquillo cojinete, brazo oscilante
i Silent bloc de suspension
4905003 TRACK CONTROL ARM FRONT,LH
rotilli kol, 6n sol, alt
Ll L v OK30B34350B pblyar nepeaHeit noaBeckn Pair: 4905002

0K30B-34-350B

Barra oscilante, suspensién de ruedas
Triangle de suspension

=

4905002

OK30B34300B
0K30B-34-300B

TRACK CONTROL ARM
rotilli kol, 6n sag, alt
pblyar nepegHei noaBeckn

Barra oscilante, suspension de ruedas
Triangle de suspension

FRONT,RH

Pair: 4905003

2023-12 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

29 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

KIA SELTOS 01/20 -
2 TRACK CONTROL ARM BUSH BOTH SIDES,REAR
g 3700105 denge kol burcu, arka sag-sol, tist 41x14,2x45 mm
" 55120J9500 caiineHTbnoK FOR 3705002/3;3709154/5
55121J9500 Casquillo cojinete, brazo oscilante
= Silent bloc de suspension
KIA SORENTO Il (UM) 01/15-
STABILIZER LINK FRONT
3 4908045 denge rotu, 6n L=350 mm
‘ ‘ 54830N9000 CTOWKa cTabunusaropa
‘ 54830-C5000 Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
KIA SOUL Il (PS) 02/14-
4907063 AXIAL JOINT BOTH SIDES

_:=‘.’ 56540-K0000

rotmili, 6n sag-sol, i¢

pyneBas Tara

Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure

M16x1,5;M16x1,5;L=305 mm

KIA TELLURIDE

01/20-

3704030

e - 5453051000
-
L >

BALL JOINT

rotil, 6n sag-sol, alt
wapoBas onopa

Rétula de suspension/carga

Rotule de suspension

BOTH SIDES
FRONT

LAND ROVER DISCOVERY SPORT (L550) 01/14-
TRACK CONTROL ARM BUSH BOTH SIDES,REAR
4800017 denge kol burcu, arka sag-sol, tist 44,5x12,2x62,3 mm
J9C1348 S1 caneHTbNOoK pbluara FOR
J9C1717 51 Casquillo cojinete, brazo oscilante 4805007/8;4809020/1;1709038;1709048/9
J9C6195 S1

Silent bloc de suspension

2023-12 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

30 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

LAND ROVER

RANGE ROVER EVOQUE (L551)

12/18-

TRACK CONTROL ARM BUSH BOTH SIDES,REAR
4800017 denge kol burcu, arka sag-sol, tist 44,5x12,2x62,3 mm
J9C1348 S1 caineHT6NOoK pblyara FOR
J9C1717 51 Casquillo cojinete, brazo oscilante 4805007/8;4809020/1;1709038;1709048/9
J9C6195 S1
Silent bloc de suspension
LEXUS ES300H 01/13-12/16
TIE ROD END LH,FRONT
* 4202145 rotbasi, 6n sol M15x1,5

45470-39345

b

HaKOHEUYHUK pyneBow TArn
Rétula barra de acoplamiento
Rotule de direction

PAIR:4202146

4202146

45460-80005

TIE ROD END
rotbasi, 6n sag
HaKOHEUYHUK Py/IeBoit TArn

Rétula barra de acoplamiento
Rotule de direction

RH,FRONT
M15x1,5

PAIR:4202145

LEXUS ES300 -ES350 01/18-
i BALL JOINT BOTH SIDES
‘g" 4204103 rotil, 6n sag-sol, alt FRONT
4333009A30 waposas onopa
Rétula de suspension/carga
Rotule de suspension
LEXUS LS 430 (43/SALOON) 08/00-08/06
TIE ROD END LH
= 4202124 rotbasi, 6n sol M14x1,5
45470-59045 HaKOHEYHUK pPyNeBoit TArn Pair: 4202125
Rétula barra de acoplamiento
Rotule de direction
TIE ROD END RH
= 4202125 rotbast, 6n sag M14x1,5

w 45460-59045

HaKOHEUYHUK pyneBoW TArm
Rétula barra de acoplamiento
Rotule de direction

Pair: 4202124

LEXUS LS (600)

08/07-08/12

4202130

45470-59105

2023-12 (BY APPLICATION)

TIE ROD END
rotbasi, 6n sol
HaKOHEUYHUK PYNeBoit Taru

Rétula barra de acoplamiento
Rotule de direction

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

LH, FRONT
M15x1,5

Pair: 4202131

310f48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

4202131

45460-59095

—

TIE ROD END

rotbasi, 6n sag

HaKOHEUYHUK PYNeBoit Taru
Rétula barra de acoplamiento

Rotule de direction

RH, FRONT
M15x1,5

Pair: 4202130

LEXUS LS (F4) 460

08/06-

4202130

45470-59105

TIE ROD END
rotbasi, 6n sol
HaKOHEYHUK py/neBoi TAru

Rotula barra de acoplamiento
Rotule de direction

LH, FRONT
M15x1,5

Pair: 4202131

4202131

45460-59095

[ -
—

TIE ROD END

rotbasl, 6n sag

HaKOHEYHUK PyNeBoi TArn
Rétula barra de acoplamiento

Rotule de direction

RH, FRONT
M15x1,5

Pair: 4202130

LEXUS RX (MCU15) 07/00 - 05/03
REAR
4209300 A CoNTROL AR
H 487800E020 pbivar
4878048010 Barra oscilante, suspension de ruedas
4878048040 Triangle de suspension
LEXUS RX (MHU3_, GSU3_, MCU3 ) 03/03-12/08
2 4204100 oo o
4333029615 S1 wapoBas onopa PAIR:4204101
Rétula de suspension/carga
Rotule de suspension
4204101 oo o
4334029215 S1 waposas onopa PAIR:4204100
Rétula de suspension/carga
Rotule de suspension
LEXUS RX 350 (MHU3,GSU3,MCU3) 08/03-07/08

4204100

4333029615 S1

BALL JOINT
rotil, 6n sol
waposas onopa

Rétula de suspension/carga
Rotule de suspension

LH
FRONT

PAIR:4204101

4204101

4334029215 S1

2023-12 (BY APPLICATION)

BALL JOINT

rotil, 6n sag

waposas onopa

Rétula de suspension/carga

Rotule de suspension

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

RH
FRONT

PAIR:4204100

320f48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

TRACK CONTROL ARM REAR
4209300 denge kolu, arka 4WD
H 487800E020 pbiuar
4878048010 Barra oscilante, suspension de ruedas
4878048040 Triangle de suspension
MAZDA CX-7 (ER) 11/06 -08/14
TRACK CONTROL ARM BUSH BOTH SIDES,REAR
3800024 salincak burcu, arka sag-sol 36,4x12,1x35 mm
EG2128C10B S1 caineHTbnoK FOR 3809050/1
£G2128C1205S1 Casquillo cojinete, brazo oscilante
Silent bloc de suspension
MAZDA 6 (GH) 08/07 -12/12
TIE ROD END RH
3802066 rotbasgl, 6n sag M14x1,5
GS3132280 HAKOHEYHUK pyneBoi TAru PAIR:3802067
Rétula barra de acoplamiento
Rotule de direction
TIE ROD END LH
3802067 rotbasi, 6n sol M14x1,5
GS3L32290 HAKOHEUYHUK py/NeBoW TAru PAIR:3802066
Rétula barra de acoplamiento
Rotule de direction
AXIAL JOINT FRONT
3807064 rotmili, 6n sag-sol M14x1,5;M20x1,5;L=160 mm
GS3L3224X pyneBas Tara
Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
TRACK CONTROL ARM REAR; BOTH SIDES
3809055 denge kolu, arka, sol-sag, alt LOWER
GHP928500 pbiyar
Barra oscilante, suspension de ruedas
Triangle de suspension
MAZDA 6 3rd Gen (GJ1/GL) 08/13-10/17
TRACK CONTROL ARM REAR; BOTH SIDES
3809055 denge kolu, arka, sol-sag, alt LOWER
H GHP928500 pbivar
Barra oscilante, suspensién de ruedas
Triangle de suspension
MAZDA MX-5 11l (NC) 03/05 -
3809084 TRACK CONTROL ARM REAR,RH
= denge kolu, arka sag, alt
NE5128500B pblyar PAIR:3809085

.———q—-‘

2023-12 (BY APPLICATION)

Barra oscilante, suspension de ruedas
Triangle de suspension

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

33 0f 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

) 3809085

‘* NES1285508

TRACK CONTROL ARM
denge kolu, arka sol, alt
pblyar

Barra oscilante, suspension de ruedas
Triangle de suspension

REAR,LH

PAIR:3809084

MERCURY VILLAGER 01/93 -01/02
3 TIE ROD END BOTH SIDES
a; 4102150 rotbasl, 6n sag-sol M14x1,5;L=82,4 mm
485207B025 HAKOHEYHUK py/NeBoW TArU
ES3200RL Rotula barra de acoplamiento
Rotule de direction
4 "i :
MITSUBISHI ECLIPSE 4G 08/06 - 08/11 -
= e -J
7
TIE ROD END BOTH SIDES
3902056 rotbasi, 6n sag-sol, dis M14x1,5;M10x1,25 mm;L=78 mm
4422A051 HAKOHEYHUK pyneBoi TAru
ES800219

Rétula barra de acoplamiento
Rotule de direction

MITSUBISHI ECLIPSE CROSS (GKOW) 10/17-
3909070 TRACK CONTROL ARM REAR
= denge kolu, arka sag-sol, alt
Barra oscilante, suspensién de ruedas
Triangle de suspension
MITSUBISHI ENDEAVOR 1st Gen 08/04 - 08/11
TIE ROD END BOTH SIDES
3902056 rotbasi, 6n sag-sol, dis M14x1,5;M10x1,25 mm;L=78 mm
4422A051 HAKOHEYHUK pyneBoi TAru
ES800219 Rétula barra de acoplamiento
Rotule de direction
MITSUBISHI GALANT IX 10/03-
TIE ROD END BOTH SIDES
3902056 rotbasi, 6n sag-sol, dis M14x1,5;M10x1,25 mm;L=78 mm
4422A051 HaKOHEUYHUK pyneBoi TAru
ES800219

Rotula barra de acoplamiento
Rotule de direction

2023-12 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

34 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

Lo\ N

MITSUBISHI GRANDIS (NA_W) 03/03 -12/11 i P
= ——
D BALL JOINT BOTH SIDES
3903022 rotil, 6n sag-sol, alt FRONT LOWER
4013A235 wapoBas onopa
4013A236 Rétula de suspension/carga
Rotule de suspension
MITSUBISHI LANCER VII (CS_A, CT_A) 03/00-12/13
TIE ROD END BOTH SIDES
N 3902057 rotbasi, 6n sag-sol M14x1,5;M12x1,25 mm;L=78 mm
4422A02 HaKOHEUYHUK pyneBoii TArmn
ES800874 Rétula barra de acoplamiento
Rotule de direction
MITSUBISHI LANCER VIII (CY,CZ) 03/07-
TIE ROD END BOTH SIDES
| 3902056 rotbast, 6n sag-sol, dis M14x1,5;M10x1,25 mm;L=78 mm
4422A051 HAKOHEUYHUK pyneBoi TAru
ES800219 Rétula barra de acoplamiento
Rotule de direction
/f:/:}v- -
MITSUBISHI OUTLANDER | (CU_W) 03/01 - 12/06 ﬂ
TIE ROD END BOTH SIDES
{ 3902057 rotbas:, o sad-sol M14x1,5;M12x1,25 mm;L=78 mm
4422A02 HAKOHEYHUK pyneBoi TAru
ES800874 Rétula barra de acoplamiento

Rotule de direction

MITSUBISHI OUTLANDER Il (GA,W) 11/10-
3909070 TRACK CONTROL ARM REAR
= denge kolu, arka sag-sol, alt

Barra oscilante, suspension de ruedas
Triangle de suspension

STOCK AND PRICE INFO ONLINE

2023-12 (BY APPLICATION)

WWW.FORMPART.COM

350f 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

NISSAN 350 ZX (233) 10/02 -03/09
TRACK CONTROL ARM BUSH BOTH SIDES,FRONT
4100096 salincak burcu, st, 6n sag-sol 30,6x10,3x50 mm
P 545241CAOA S1 caineHT6noK FOR
/4 54524AL500 51 Casquillo cojinete, brazo oscilante 4109200/1;4109130/1/2/3;4109084/5;41091
54524CFO0A S1 45/6;4109243/4
Silent bloc de suspension
TRACK CONTROL ARM BUSH REAR
4100110 burg, arka 37x12,3x49,9 mm
55157JFO0A caiineHT610K
56219-AL500 Casquillo cojinete, brazo oscilante
56219JNOOA

Silent bloc de suspension

NISSAN 370 ROADSTER (Z34) 3,7 01/09-

TRACK CONTROL ARM BUSH REAR

4100110 burg, arka 37x12,3x49,9 mm

55157JFO0A caineHT6N0K

56219-AL500 Casquillo cojinete, brazo oscilante

56213/NGOA Silent bloc de suspension

NISSAN FRONTIER 01/98 - 12/04
TIE ROD END BOTH SIDES
7 4101045 rotbasi, n sag-sol M18x1,5
M D8521VK91A HAKOHEYHUK pyNeBoi TAru
Rétula barra de acoplamiento
Rotule de direction
BALL JOINT BOTH SIDES
w 4103054 rotil, 6n sag-sol, tist UPPER
0 545248B425 wapoBas onopa Dia:50,7mm
- I*‘O 545258B425 S1 Rétula de suspensién/carga
- Rotule de suspension

WISHBONE FRONT,RH

4109194 salincak, 6n sag, st MOOG TYPE/RWD

545248B425 S1 pbiyar PAIR:4109195

Barra oscilante, suspension de ruedas
Triangle de suspension

4109195

545258B425 S2

WISHBONE
salincak, 6n sol, Ust
pbiyar

Barra oscilante, suspension de ruedas
Triangle de suspension

FRONT,LH
MOOG TYPE/RWD

PAIR:4109194

2023-12 (BY APPLICATION)

Triangle de suspension

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

4109187 WISHBONE FRONT,RH
salincak, 6n sag, alt
5450035525 S1 pblyar PAIR:4109188
5450035550 Barra oscilante, suspension de ruedas
CM3301131 Triangle de suspension
4109188 WISHBONE FRONT,LH
salincak, 6n sol, alt
5450135525 S1 pblyar PAIR:4109187
5450135550 Barra oscilante, suspension de ruedas
CMS301132

36 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

Triangle de suspension

4109190 WISHBONE FRONT,RH ) )
salincak, 6n sag, alt Moog Type / 2.4L; Silentblock housing 97,5

5450025685 pblyar mm

5450097510 PAIR:4109191

RK620557 S1 Barra oscilante, suspensién de ruedas
Triangle de suspension

4109191 WISHBONE FRONT,LH ) )
salincak, 6n sol, alt Moog Type / 2.4L; Silentblock housing 97,5

5450125685 pbluar mm

5450197510 PAIR:4109190

RK620556 S1 Barra oscilante, suspensién de ruedas

NISSAN FRONTIER (D40) 07/05-
WISHBONE FRONT,RH
4109198 salincak, 6n sag, alt Ball pin: 22 mm
545009CDOA pbluar PAIR:4109199
54500EA000 Barra oscilante, suspension de ruedas
Triangle de suspension
WISHBONE FRONT,LH
4109199 salincak, 6n sol, alt Ball pin: 22 mm
545019CDOA pblyar PAIR:4109198
54501EA000 Barra oscilante, suspensién de ruedas
Triangle de suspension
NISSAN LEAF (ZEO) 11/10-07/17
WISHBONE FRONT,RH
4109192 salincak, én sag, alt YEAR ONLY 2013-2018
545003NFOA pbiyar PAIR:4109193
Barra oscilante, suspension de ruedas
Triangle de suspension
WISHBONE FRONT,LH
4109193 salincak, 6n sol, alt YEAR ONLY 2013-2018
545013NFOA pbiyar PAIR:4109192
Barra oscilante, suspensién de ruedas
Triangle de suspension
NISSAN LEAF (ZE1) 08/17-
4109196 WISHBONE FRONT,RH
salincak, 6n sag, alt
545004DA0A pblyar PAIR:4109197
545004FUOA Barra oscilante, suspensién de ruedas
Triangle de suspension
4109197 WISHBONE FRONT,LH
salincak, on sol, alt
545014DA0A pblyar PAIR:4109196
545014FUOA

Barra oscilante, suspensién de ruedas
Triangle de suspension

2023-12 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

37 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

NISSAN MARCH 08/11- )
,.U
- TIE ROD END LH,FRONT
== 4102121 rotbasi, én sol M12x1,25
D86401HKOA HaKOHEYHUK pPyneBoit TAru Pair: 4102122
Rétula barra de acoplamiento
Rotule de direction
- TIE ROD END RH,FRONT
o= 4102122 rotbasl, 6n sag M12x1,25
D85201HKOA HaKOHEYHWK Py/NeBO TArn Pair: 4102121
Rétula barra de acoplamiento

Rotule de direction

TR N

NISSAN MAXIMA VI (A34) 08/06-08/08 e&\ Y-
' &-,—H-:‘
TRACK CONTROL ARM BUSH REAR
4100110 burg, arka 37x12,3x49,9 mm
55157JFO0A caiineHT6n0K
56219-AL500 Casquillo cojinete, brazo oscilante
56219IN00A Silent bloc de suspension
-
NISSAN MURANO (Z 51) 11/07 - TSy
TRACK CONTROL ARM BUSH REAR
4100110 burg, arka 37x12,3x49,9 mm
55157JFO0A caineHT6N0K
56219-AL500 Casquillo cojinete, brazo oscilante
56219JNOOA

Silent bloc de suspension

NISSAN MURANQO IlI (252) 10/14-
[ TIE ROD END RH
,? 4102148 rotbasi, 6n sag M16x1,5
D85203KA0B HaKOHEYHUK pyneBoii TArmn PAIR:4102149
Rétula barra de acoplamiento
Rotule de direction
i TIE ROD END LH
t_ 4102149 rotbasi, 6n sol M16x1,5
D86403KA0B HAKOHEYHUK pyneBoi TAru PAIR:4102148
Rétula barra de acoplamiento
Rotule de direction
NISSAN NV 400 11/11-09/16
LEFT,FRONT
5609122 WISHBONE :
salincak, 6n sol
19317748 pblyar PAIR:5609123
545013SH1A Barra oscilante, suspensién de ruedas
545013SH2A

2023-12 (BY APPLICATION)

Triangle de suspension

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

38 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

7

5609123

19317747
19317873
545003SH1A

WISHBONE
salincak, 6n sag
pblyar

Barra oscilante, suspension de ruedas
Triangle de suspension

RIGHT,FRONT

PAIR:5609122

NISSAN

NV1500, NV2500, NV3500

01/12-12/18

Barra oscilante, suspension de ruedas

STABILIZER LINK REAR

4108157 denge rotu, arka sag-sol L=150 mm
562611PA0A cTolKa cTtabunusartopa

Travesafios/barras, estabilizador

Biellette de barre stabilisatrice

NISSAN PATHFINDER (R51) 01/05 -

WISHBONE FRONT,RH
4109198 salincak, 6n sag, alt Ball pin: 22 mm
545009CDOA pbiyar PAIR:4109199
54500EA000 Barra oscilante, suspension de ruedas

Triangle de suspension

WISHBONE FRONT,LH
4109199 salincak, 6n sol, alt Ball pin: 22 mm
545019CDOA pbiyar PAIR:4109198
54501EA000

Triangle de suspension

Rétula barra de acoplamiento

NISSAN PATHFINDER ( R52) 08/14-
TIE ROD END RH
;:’ 4102148 rotbasl, 6n sag M16x1,5
D85203KA0B HaKOHEYHWK pPy/NeBoi TArn PAIR:4102149
Rétula barra de acoplamiento
Rotule de direction
] TIE ROD END LH
(:, 4102149 rotbasi, 6n sol M16x1,5
. D86403KA0B HaKOHEUYHUK py/NeBoi TAru PAIR:4102148

Rotule de direction

NISSAN

PICK UP D22 2WD

02/98 -

i

'M

4101045

D8521VK91A

TIE ROD END

rotbasi, 6n sag-sol
HaKOHEUYHUK pyneBow TArm
Rétula barra de acoplamiento

Rotule de direction

BOTH SIDES
M18x1,5

2023-12 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

39 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

NISSAN

QASHQAI (J10,JJ10)

01/07 -01/14

4109082

551212916R
55121JD000
55121-JDO0B

WISHBONE
salincak, arka sol, Ust
pblyar noaBeckun

Barra oscilante, suspension de ruedas
Triangle de suspension

LH, REAR
UPPER

PAIR:4109083

4109083

551202536R
55120JD000
55120-JD00B

WISHBONE
salincak, arka sag, Ust
pblyar noaBeckun

Barra oscilante, suspension de ruedas
Triangle de suspension

RH, REAR
UPPER

PAIR:4109082

NISSAN QASHQAI (J11) 02/14 -

WISHBONE LH, REAR
4109082 salincak, arka sol, st UPPER
551212916R pblyar noaBecku PAIR:4109083
55121JD000 Barra oscilante, suspensién de ruedas
55121-JDO0B Triangle de suspension

WISHBONE RH, REAR
4109083 salincak, arka sag, Ust UPPER
551202536R pblyar noaBecku PAIR:4109082
55120JD000

55120-JD00B

Barra oscilante, suspensién de ruedas
Triangle de suspension

NISSAN QUEST 08/93-09/03
f:a.l! 4102150 -rrgfb’:\(;ll,)éEnNSZQ—sol ;OIT‘;'(;I;E;ZA mm
485207B025 HAKOHEUYHUK pyNeBoi TAru
ES3200RL Rétula barra de acoplamiento
Rotule de direction
NISSAN ROGUE 08/08-08/14
4109082 :::;::ggfka sol, Ust bl—:"PREiAR

55120-JD00B

Barra oscilante, suspension de ruedas
Triangle de suspension

551212916R pblyar noaBecku PAIR:4109083

55121JD000 Barra oscilante, suspension de ruedas

55121-JDO0B Triangle de suspension

4109083 WISHBONE RH, REAR
salincak, arka sag, Ust UPPER

551202536R pblyar noaBecku PAIR:4109082

55120JD000

2023-12 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

40 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

NISSAN ROGUE 08/13-
WISHBONE LH, REAR
4109082 salincak, arka sol, Ust UPPER
551212916R pblyar noaBecku PAIR:4109083
55121JD000

55121-JDO0B

Barra oscilante, suspension de ruedas
Triangle de suspension

4109083

551202536R
55120JD000
55120-JD00B

WISHBONE
salincak, arka sag, Ust
pblyar noaBeckun

Barra oscilante, suspension de ruedas
Triangle de suspension

RH, REAR
UPPER

PAIR:4109082

NISSAN SENTRA 01/13-
5609122 WISHBONE LEFT,FRONT
salincak, 6n sol
19317748 pblyar PAIR:5609123
545013SH1A Barra oscilante, suspensién de ruedas
5450135H2A Triangle de suspension
5609123 WISHBONE RIGHT,FRONT
salincak, 6n sag
19317747 pblyar PAIR:5609122
19317873 Barra oscilante, suspension de ruedas
545003SH1A Triangle de suspension
= N\
NISSAN SENTRA 02/18- "‘ = l W,; )
4109196 WISHBONE FRONT,RH
salincak, 6n sag, alt
545004DA0A pblyar PAIR:4109197
545004FUOA Barra oscilante, suspension de ruedas
Triangle de suspension
4109197 WISHBONE FRONT,LH
salincak, 6n sol, alt
545014DA0A pblyar PAIR:4109196
545014FUOA Barra oscilante, suspension de ruedas
Triangle de suspension
NISSAN TEANA (J32) 08/09 - 08/13
TRACK CONTROL ARM BUSH REAR
4100110 burg, arka 37x12,3x49,9 mm
55157JFO0A caineHT6noK
56219-AL500 Casquillo cojinete, brazo oscilante
56219JNOOA

Silent bloc de suspension

2023-12 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

41 0of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

NISSAN VERSA Il 08/11-
TIE ROD END LH,FRONT
-
= 4102121 rotbasi, 6n sol M12x1,25
D86401HKOA HaKOHEYHUK pPyneBoit TAru Pair: 4102122
Rétula barra de acoplamiento
Rotule de direction
TIE ROD END RH,FRONT
&
= 4102122 rotbasl, 6n sag M12x1,25
D85201HKOA HaKOHEYHWK Py/NeBO TArn Pair: 4102121
Rétula barra de acoplamiento
Rotule de direction
TIE ROD AXIAL JOINT FRONT
4107103 rotmili, 6n M12x1,25;M14x1,5;L=227 mm
_ll D85211HKOA pynesas Tara

Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure

NISSAN VERSA NOTE (E12) 06/12-
TIE ROD END LH,FRONT
-
=~ 4102121 rotbasi, 6n sol M12x1,25
D86401HKOA HaKOHEYHUK pPyneBoit TAru Pair: 4102122
Rétula barra de acoplamiento
Rotule de direction
- TIE ROD END RH,FRONT
= 4102122 rotbasl, 6n sag M12x1,25
D85201HKO0A HAKOHEUYHUK py/NeBoW TArU Pair: 4102121
Rétula barra de acoplamiento
Rotule de direction
TIE ROD AXIAL JOINT FRONT
4107103 rotmili, &n M12x1,25;M14x1,5;L=227 mm
_ D85211HKOA pynesas Tara

Articulacion axial, barra de acoplamiento
Rotule de direction intérieure

NISSAN XTERRA (N50) 08/05-08/15

WISHBONE FRONT,RH
4109198 salincak, 6n sag, alt Ball pin: 22 mm
545009CDOA pbiyar PAIR:4109199
54500EA000 Barra oscilante, suspensién de ruedas

Triangle de suspension

WISHBONE FRONT,LH
4109199 salincak, 6n sol, alt Ball pin: 22 mm
545019CDOA pblyar PAIR:4109198
54501EA000

Barra oscilante, suspension de ruedas
Triangle de suspension

2023-12 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

42 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

NISSAN

X-TRAIL (T31)

06/07 -08/13

4109082

551212916R
55121JD000
55121-JDO0B

WISHBONE
salincak, arka sol, Ust
pblyar noaBeckun

Barra oscilante, suspension de ruedas
Triangle de suspension

LH, REAR
UPPER

PAIR:4109083

4109083

551202536R
55120JD000
55120-JD00B

WISHBONE
salincak, arka sag, Ust
pblyar noaBeckun

Barra oscilante, suspension de ruedas
Triangle de suspension

RH, REAR
UPPER

PAIR:4109082

BN

NISSAN X-TRAIL (T32) 08/13- N -1

WISHBONE LH, REAR

4109082 salincak, arka sol, st UPPER

551212916R pblyar noaBecku PAIR:4109083

55121JD000 Barra oscilante, suspensién de ruedas

55121-JDO0B Triangle de suspension
WISHBONE RH, REAR

4109083 salincak, arka sag, Ust UPPER

551202536R pblyar noaBecku PAIR:4109082

55120JD000

55120-JD00B

Barra oscilante, suspensién de ruedas
Triangle de suspension

OLDSMOBILE BRAVADA 08/02-
TIE ROD END RH
'& 5601028 rotbasi, 6n sag, dis M14x1,5
26089598 HAKOHEUYHUK pyNeBoi TAru PAIR:5601029
& ES3579 Rétula barra de acoplamiento
Rotule de direction
TIE ROD END LH
“ﬁ 5601029 rotbasl, 6n sol, dis M14x1,5
26089597 HaKOHEYHWK Py/NIeBO TATU PAIR:5601028
L ES3578 Rétula barra de acoplamiento
Rotule de direction
PONTIAC FIREBIRD 08/93-09/02 P, =
=@ =
3% BALL JOINT BOTH SIDES
: 5604037 rotil, 6n sag-sol, Ust FRONT UPPER
22145478 waposas onopa

Rétula de suspension/carga
Rotule de suspension

2023-12 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE

WWW.FORMPART.COM

43 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

PONTIAC G8 01/08-
AXIAL JOINT BOTH SIDES
5607066 rotmili, 6n M14x1,5;M18x1,5;L=271,5 mm
ﬁ_. 19259256 pynesas Tara
: Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure
STABILIZER LINK BOTH SIDES,REAR
5608070 denge rotu, arka sag-sol L=100 mm
92195849 cTolKa cTabunusaropa
Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
PONTIAC TORRENT 08/06 - 08/08
5609166 TRACK CONTROL ARM REAR,RH
denge kolu, arka sag
20792698 pbiyar PAIR:5609167
Barra oscilante, suspensién de ruedas
Triangle de suspension
5609167 TRACK CONTROL ARM REAR,LH
denge kolu, arka sol
15240206 pblyar PAIR:5609166
Barra oscilante, suspensién de ruedas
Triangle de suspension
S 7\
RAM 1500 08/11- w
5609 15 1 STRUT CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol,lst
H 52855800AB pbiyar
52855800AC Barra oscilante, suspension de ruedas
52855800AE Triangle de suspension
5609152 STRUT CONTROL ARM BOTH SIDES,REAR
denge kolu, arka sag-sol, alt
eeeesbe— 25500 poivar
52855801AD Barra oscilante, suspension de ruedas
52855801AF Triangle de suspension
RENAULT KADJAR 06/15-
WISHBONE LH, REAR
4109082 salincak, arka sol, Ust UPPER
551212916R pblyar noaBecku PAIR:4109083
55121JD000 Barra oscilante, suspension de ruedas
55121-JDO0B Triangle de suspension
WISHBONE RH, REAR
4109083 salincak, arka sag, (st UPPER
551202536R pblyar noaBecku PAIR:4109082
55120JD000 Barra oscilante, suspensién de ruedas
55120-JD00B

Triangle de suspension

2023-12 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

44 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

RENAULT KOLEOS Il 08/16-

WISHBONE LH, REAR
4109082 salincak, arka sol, Ust UPPER
551212916R pblyar noaBecku PAIR:4109083
55121JD000 Barra oscilante, suspensién de ruedas
55121-1D00B Triangle de suspension

WISHBONE RH, REAR
4109083 salincak, arka sag, Ust UPPER
551202536R pblyar noaBecku PAIR:4109082
55120JD000

55120-JD00B

Barra oscilante, suspension de ruedas
Triangle de suspension

SAAB 9-7X 08/05-08/09
o BALL JOINT BOTH SIDES
x 5603053 rotil, 6n sag-sol, alt FRONT LOWER
H 25784239 S1 waposas onopa
o 25784240 Rétula de suspension/carga
- Rotule de suspension
SATURN VUE 08/04 - 08/10
REAR,RH
5609166 TRACK CONTROL A{{M ,
denge kolu, arka sag
20792698 pblyar PAIR:5609167
Barra oscilante, suspension de ruedas
Triangle de suspension
REAR,LH
5609167 TRACK CONTROL ARM
denge kolu, arka sol
15240206 pblyar PAIR:5609166

Barra oscilante, suspension de ruedas
Triangle de suspension

SUZUKI BALENO (FW, EW) 02/16 -
AXIAL JOINT BOTH SIDES
4307023 rotmili, 6n sag-sol M14x1,5;M14x1,5;L=325 mm
K —— 48830M68P00 pyneBas Tara
Articulacion axial, barra de acoplamiento
Rotule de direction intérieure
SUZUKI SWIFT V (A2) 01/17-
STABILIZER LINK FRONT; BOTH SIDES
4308019 denge rotu, 6n sag-sol L=350 mm
r \ 4242053R00 CTOWKa cTabunusaropa
? 4242053R01 Travesafios/barras, estabilizador

Biellette de barre stabilisatrice

2023-12 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

45 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

SUZUKI WAGON R 08/12-11/18
4309036 WISHBONE FRONT,RH
salincak, 6n sag, alt
45201M67L00 pbluar PAIR:4309037
Barra oscilante, suspension de ruedas
Triangle de suspension
4309037 WISHBONE FRONT,LH
salincak, 6n sol, alt
45202M67L00 pbiyar PAIR:4309036
Barra oscilante, suspension de ruedas
Triangle de suspension
TOYOTA AVALON ( XX50) 01/18-
' BALL JOINT BOTH SIDES
.‘g' 4204103 rotil, 6n sag-sol, alt FRONT
4333009A30 waposas onopa
Rétula de suspension/carga
Rotule de suspension
TOYOTA CAMRY (USA) XV40 08/07 -08/11

4207135

.h_m 4550339315

TIE ROD AXIAL JOINT

rotmili, 6n sag-sol

pynesas Tara

Articulacidn axial, barra de acoplamiento
Rotule de direction intérieure

BOTH SIDES
M15x1,5;M14x1,5;L=235 mm

2.4 LT Hybrid Only

TOYOTA

CAMRY (USA) XV50

08/12-

¥,

[ ——

4202145

45470-39345

TIE ROD END
rotbasl, 6n sol
HaKOHEYHUK py/neBoi TAru

Rétula barra de acoplamiento
Rotule de direction

LH,FRONT
M15x1,5

PAIR:4202146

4202146

45460-80005

TIE ROD END
rotbasi, 6n sag
HAKOHEYHUK pyneBoi TAru

Rétula barra de acoplamiento
Rotule de direction

RH,FRONT
M15x1,5

PAIR:4202145

TOYOTA CAMRY ( XV70) 09/17-
% 4204103 FrONT
4333009A30 waposas onopa

Rétula de suspension/carga
Rotule de suspension

2023-12 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

46 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

AR

TOYOTA HIGHLANDER (U3) XU20 08/01-08/07 { =
4209300 TRACK CONTROL ARM REAR
denge kolu, arka 4WD
H 487800E020 pblyar
4878048010 Barra oscilante, suspension de ruedas
4878048040 Triangle de suspension
TOYOTA HIGHLANDER (UX70) 01/19-
- STABILIZER LINK FRONT
- T 4208196 denge rotu, 6n sag-sol L=260 mm
M 488200R050 CTOWKa cTabunusaropa
& Travesafios/barras, estabilizador
b Biellette de barre stabilisatrice
]
TOYOTA RAV 4 01/19- ff’ﬁ,
; BALL JOINT BOTH SIDES
@ 4204099 rotil, 6n sag-sol, alt FRONT LOWER
4333009A90 wapoBas onopa
4333049235 Rétula de suspension/carga
Rotule de suspension
BALL JOINT BOTH SIDES
4204102 rotil, 6n sag-sol, alt FRONT LOWER
4333009A80 wapoBas onopa
Rétula de suspension/carga
Rotule de suspension
- STABILIZER LINK FRONT
& 4208196 denge rotu, 6n sag-sol L=260 mm
C=) 488200R050 cTolKa cTabunusaropa
Travesafios/barras, estabilizador
. Biellette de barre stabilisatrice
a
TOYOTA TACOMA (N1) 01/95 - 08/04 H g—
=3 STABILIZER LINK FRONT
P 4208161 denge rotu, &n sag-sol L=104,5 mm
£ 4882035020 croiika crabunnsartopa
'*l 4882035021 Travesafios/barras, estabilizador
Biellette de barre stabilisatrice
4‘5;
TOYOTA VENZA ( XU89) 01/20- / r
- STABILIZER LINK FRONT
- T 4208196 denge rotu, 6n sag-sol L=260 mm
S 488200R050 cToiika crabunmsatopa

Travesafios/barras, estabilizador
Biellette de barre stabilisatrice

2023-12 (BY APPLICATION)

STOCK AND PRICE INFO ONLINE
WWW.FORMPART.COM

47 of 48



~NOUVELLES DU CATALOGUE~NEUES AUS DEM KATALOG~HOBWUHKU KATAITOIA~YENI GIKAN URUNLER ~ ¢ sltis JLai~

FLYER-2023-12

STOCK AND PRICE INFO ONLINE
2023-12 (BY APPLICATION) WWW._FORMPART.COM 48 of 48



